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R Ty oA kO E o A W one/l 0. 1UTF <0.01 <0.01
v 7 v it & l mg/l 1T <o0.1 < 0.1
7 % i b & wl mg/l 1LLF <0.1 <0.1
o Xk [N » ft & B me/l 0. 1LF < 0.01 < 0.01
AN 7 = N fe & | mg/l 0. 5LF < 0.05 < 0.05
& kX O x o A & W mg/l 0. 1LF < 0.01 < 0.01
K J 7 v VKB Z oK AL & W me/l 0. 005LLF < 0.0005 < 0.0005
7o F v kO #H ok B B wmg/l BMH & wn ook < 0.0005 < 0.0005
XUV O o v 7 o= = A mg/l 0. 003LLF < 0.001 < 0.001
Yy sz o om o om o= F Lo omgl 0. 3LTF < 0.001 < 0.001
F r 7 7z v v T F L v mQ 0. 1UTF < 0.001 < 0.001
D4 % o = # 5 | mg/1 0. 2LTF < 0.02 < 0.02
L 1 1t 74 #| mg/l 0. 02LTF < 0.002 < 0.002
1 2 — v s 8w ouw x & | mn 0. 04LTF < 0.004 < 0.004
1 1 - v 7 vw = F v o omgl 1LLF < 0.02 < 0.02
A =1 2 —YzsueuexF L mgl 0. 40TF < 0.04 < 0.04
1 1 1 — FU 2 mom = o mgl 3T < 0.001 < 0.001
1 1 2 — N U s moum =& o mgl 0. 06LLTF < 0.006 < 0.006
1 3 — Y s v onmr 7o < omg 0. 02LTF < 0.002 < 0.002
F v 7 4| mg/l 0. 0B6LLTF < 0.006 < 0.006
v - v | mg/1 0. 03LTF < 0.003 < 0.003
F E ~ v 71 v 7| mg/1 0. 20TF < 0.02 < 0.02
~ v + | mg/1 0. 1UTF < 0.01 < 0.01
t v v Kk W™ 2 o & & W mg/l 0. 1LF < 0.01 < 0.01
1 4 - v A x % o m 0. 5UTF < 0.05 < 0.05
z = 7 — L Wl mg/1 5UF < 0.1 <o.1
T3 [N D b & W me/l 3L <o0.1 < 0.1
o Rk O x o & # mel 2LF 0. 06 0.04
#k & O o b & W (% iR M) [ me/l 10T <10 < 1.0
v~ AR EOLEY (BME)| me/l 10T <0.5 < 0.5
sy o omo on KOO 2 o & A& | mng/l 2 LT < 0.1 <o.1
H o # K OO O o {t & B mg/l 8L <0.5 <0.5
E 9 #F Kk O oz o kb A& Bl mg/l 10T <0.10 < 0.10
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